बी एच ई ए।	BHARAT HEAVY ELECTRICALS LIMITED						
BHE	RAMACHANDRAPURA	RAMACHANDRAPURAM, HYDERABAD-32					
_//	Township Administration Department						
	SCHEDULE- A	Tender Notice No:					
		HY/TA/OT-19/2022-23, Dt: 01.12.2022					
	PRICE BID						

Name of work:- Miscellaneous Civil Works at Guest House and IC in view of Directors Visit to our Unit.

SNo	Description	Unit	Qty	Unit Rate (in Rs.)	Amount (Rs.)
1-a	Dismantling brick masonry walls for all heights, removing and clearing the debris and carting away upto to lead of 2 KM including loading, unloading and spreading segregating useful materials as directed by Engineer-in-charge including the cost of all labour scaffolding etc., complete.	Cu.m	30.00	1192.08	35762.40
b	Dismantling and disposal of plastering on walls up to a distance of 2 kms. Lead , the following including the cost of labour, tools, transport etc. all complete all as directed by Engineer-in-charge.	One Sqm	20.00	29.25	585.00
С	Dismantling reinforced cement concrete / plain cement concrete and disposing of debris upto to a lead of 2 KM including loading, unloading and spreading as directed by Engineer-in-charge etc., complete.	Cu.m	1.00	1990.68	1990.68
d	Dismantling doors, windows and clerestory windows (steel or wood) shutter including chowkhats, architrave, holdfasts etc. complete and stacking within 50 metres lead :15.12.1 Of area 3 sq. metres and below	each	30.00	205.88	6176.25
е	Dismantling tile work in floors and roofs laid in cement mortar including stacking material within 50 metres lead. For thickness of tiles 10 mm to 25 mm	Sqm	10.00	41.14	411.38
2	Earth work in excavation in all soils by mechanical means (Hydraulic Excavators) / manual means in foundations trenches or drains (not exceeding 1.5m in width or 10 Sq.m on plan) including dressing of sides and ramming of bottoms, lift upto 1.5m, including getting out the excavated soil and disposal of surplus excavated soil as directed, within a lead of 50M.	Cu.M	10.00	189.23	1892.25
3	Brick work with FPS bricks of Ground moulded in superstructure above plinth level up to floor V level in all shapes and sizes in cement mortar 1:6.All items supply are in contractor scope only	Cu.M	20.00	5692.84	113856.75
4	Plastering in CM 1:6, 20 mm thick to internal and external surfaces of walls including the cost of all materials, labour, curing etc., complete - Upto 10.00 m height. All materials supply are in contractor scope only.**	Sq.m	300.00	231.48	69444.00
5	Plastering to the ceiling in CM 1:3, 6mm (1 cement : fine sand). All materials supply are in contractor scope only.**	Sq.m	20.00	141.77	2835.30
6	Providing and laying in position cement concrete of specified grade excluding the cost of centering and shuttering including consolidation by vibrations for all works up to plinth level with 1:4:8 (1 cement : 4 coarse sand : 8 graded stone aggregate of 20 mm nominal size).	Cu.m	2.00	3499.50	6999.00
7	Providing and laying in position cement concrete of specified grade excluding the cost of centering and shuttering - All work up to plinth level 1:2:4 (1 cement : 2 coarse sand : 4 graded stone aggregate 20 mm nominal size). Only cement will be issued free of cost from BHEL store	cum	30.00	3781.07	113432.18
8	Providing and laying gang saw cut 30 mm thick, mirror polished pre moulded and pre polished machine cut granite stone of required size and shape of approved shade, colour and texture in footpath, flooring in road side plazas and similar locations, laid over 20mm thick base of cement mortar 1:4 (1 cement : 4 coarse sand) including grouting the joints with white cement mixed with matching pigment, epoxy touch ups etc. complete as per direction of Engineer-in-Charge.With granite stone of area less than 0.50 sqm.**	Sq.m	10.00	2959.94	29599.43

	SCHEDULE- A	Tende	r Notice No:		
	SCHEDOLE- A		OT-19/2022-2	23 Dt: 01 12	2022
	PRICE BID	111/1/		25, Dt. 01.12.	
Namo	of work:- Miscellaneous Civil Works at Guest I	House	and IC in view	v of Director	e Visit to our
Unit.	of work Miscendieous Civil Works at Guest i	iouse	and ic in viev	W OI DII ECIOI	s visit to our
9	Distempering with 1st quality oil bound washable distemper distemper (ready mixed) having VOC content less than 50 gms/litre, of approved manufacturer, of required shade and colour complete, as per manufacturer's specification. On old work. Two coats. Old surface to be scraped neatly and uneven surfaces should be filled up by putty wherever required. All material supply are in agency scope. Paint shoud be of reputed brand. Make-Berger/Nerolac/Asian paints	Sqm	3500.00	65.36	228768.75
10	Providing and applying plaster of paris putty of 2 mm thickness over plastered surface to prepare the surface even and smooth complete. Make-Berger/Nerolac/Asian paints		100.00	147.53	14752.50
11	Wall painting with acrylic emulsion paint of approved brand and manufacture to give an even shade: Two coats. Old surface surface should be scraped thoroughly to get a perfect finish and uneven surfaces should be filled up by putty wherever required. All materials should be supplied by agency only. Paint should be of reputed brand. Make-Berger/Nerolac/Asian paints	Sqm	4000.00	80.10	320400.00
12	Painting with synthetic enamel paint of approved brand and manufacture to give an even shade: .Old surface should be scraped thoroughly to get a perfect finish.One or more coats on old work.All materials should be supplied by agency only.Paint should be of reputed brand.Make-Berger/Nerolac/Asian paints		600.00	59.96	35977.50
13	Supplying and applying ready mixed red oxide zinc chromate primer of approved brand and manufacture on steel work (second coat)		550.00	20.40	11220.00
14	Hire charges for access scaffolding-upto 3.66m using Casuarina Ballies,banboos,wooden reapers,Runners,wood posts,wall plates etc. for plastering walls-1Sqm(1st Floor)		200.00	10.15	2029.60
b	do(2nd floor)	Sq.m	50.00	14.01	700.33
15	Providing and fixing stainless steel (Grade 304) railing made of Hollow tubes, channels, plates etc., including welding, grinding, buffing, polishing and making curvature (wherever required) and fitting the same with necessary stainless steel nuts and bolts complete, i/c fixing the railing with necessary accessories & stainless steel dash fasteners, stainless steel bolts etc., of required size, on the top of the floor or the side of waist slab with suitable arrangement as per approval of Engineer-in-charge, (for payment purpose only weight of stainless steel members shall be considered excluding fixing accessories such as nuts, bolts, fasteners etc.).	Kg	100.00	656.17	65617.44
16	Supply & fixing of 6 mm thick mirror of approved quality "Modi float/Saintgobin glass", with 6 mm thick hard board back and with best quality teak wood frame (design beading) all round the mirror including necessary clamps, polishing to the beading, cost of all materials etc. complete.	sqm	5.00	2343.57	11717.87

	SCHEDULE- A	Tende	r Notice No:		
			/OT-19/2022-	23, Dt: 01.12.	2022
	PRICE BID			,	
Name	of work:- Miscellaneous Civil Works at Guest I	House	and IC in viev	w of Director	s Visit to our
Unit.		1000			o 71011 to out
17	Providing and laying factory made chamfered edge Cement Concrete paver blocks in footpath, parks, lawns, drive ways or light traffic parking etc, of required strength, thickness & size/shape, made by table vibratory method using PU mould, laid in required colour & pattern over 50mm thick compacted bed of sand, compacting and proper embedding/laying of inter locking paver blocks into the sand bedding layer through vibratory compaction by using plate vibrator, filling the joints with sand and cutting of paver blocks as per required size and pattern, finishing and sweeping extra sand. complete all as per direction of Engineer-in- Charge. 16.91.1 60mm thick cement concrete paver block of M-35 grade with approved colour, design & pattern.	sqm	60.00	663.56	39813.75
18	Supply and laying Stone dust under paver tile as directed by EIC.	Tonne	2.00	1199.35	2398.70
19	Repairs to the existing doors,windows, ventilators and cup boards including frame, shutters, fittings,weldmesh, T.W beadings etc., all as directed by the Engineer-in-charge.(Only labour charges).	One	50.00	208.82	10440.91
20	French spirit polishing with strainer in required colour: Two or more coats on wood works including a coat of wood filler	Sqm	100.00	263.36	26336.25
21	Providing and fixing ISI marked flush door shutters conforming to IS 2202 (part I) decorative type core of block board construction with frame of 1st class hard wood and well matched teak 3 ply veneering with vertical grains or cross band and face veneerson both faces of shutters				
	30mm thick including ISI marked stainless steel butt hinges with necessary screws .	Sqm	30.00	2067.26	62017.88
22	Supplying and fixing plain Unplasticised PVCs Pipes of 110 mm (4 kg/sqcm)dia of approved quality with specials, accessories and approved sealing / jointing compound on the exterior of the inserted portion of the fitting and fixing in position and jointing to MS gutters, including cost of all materials, sealing compound, labour etc., for all heights complete.	RM	10.00	279.07	2790.70
23	Providing and fixing factory made UPVC door frame made of UPVC extruded section of size 48 x 40 mm (tolerance ±1 mm) with wall thickness 2.0mm ± 0.2 mm, corners of the door frame to be mitred and welded of plastic, galvanized brackets and stainless steel screws. The hinge side vertical of the frames reinforced by galvanized M.S tube of size 19 x 19 mm and 1 mm ± 0.1 mm wall thickness and 3 nos. stainless steel hinges fixed to the frame complete as per manufacturers specification and direction of Engineer-in-charge.	One Rmt	20.00	166.24	3324.75

	SCHEDULE- A	Tende	r Notice No:		
		HY/TA	/OT-19/2022-	23, Dt: 01.12.2	2022
	PRICE BID				
Name Unit.	of work:- Miscellaneous Civil Works at Guest I	House	and IC in vie	w of Directors	s Visit to our
24	Supply and fixing 30 mm thick factory made Polyvinyl Chloride (PVC) door shutter made of styles and rails of a uPVC hollow section of size 60x30 mm and wall thickness 2 mm (± 0.2 mm), with inbuilt decorative moulding edging on one side. The styles and rails mitred and joint at the corners by means of M.S. galvanised/ plastic brackets of size 75x220 mm having wall thickness 1.0 mm and stainless steel screws. The styles of the shutterreinforced by inserting galvanised M.S. tube of size 25x20 mm and 1 mm (± 0.1 mm) wall thickness. The lock rail made up of 'H' section, a uPVC hollow section of size 100x30 mm and 2 mm (± 0.2 mm) wall thickness fixed to the shutter styles by means of plastic/ galvanised M.S. 'U' cleats. The shutter frame filled with a uPVC multi-chambered single panel of size not less than 620 mm, having over all thickness of 20 mm and 1 mm (± 0.1 mm) wall thickness . The panels filled vertically and tie bar at two places by inserting horizontally 6 mm galvanised M.S. rod and fastened with nuts and washers, All fittings for door like Aldrops,tower bolts,handles and hinges should be supplied by agency only.complete as per manufacturer's specification and direction of Engineer-in-charge	Sqm	30.00	1483.99	44519.63
25	Supply and fixing 1 st Quality ceramic glazed wall tiles conforming to IS: 15622 (thickness to be specified by the manufacture) of approved make in all colours, shades except burgundy, bottle green, black of any size as approved by Engineer-in-Charge in Skirting, risers of steps and dados over 12mm thick bed of cement Mortar 1:3 (1 cement: 3 coarse sand and jointing with grey cement slurry @ 3.3kg per sqm including pointing in white cement mixed with pigment of matching shade complete all as directed by Engineer-in-Charge.	One	10.00	633.60	6336.00
26	Providing and laying ceramic glazed anti skid resistant floor tiles 395 x 395 mm (thickness to be specified by the manufacture) of 1st quality conforming to IS:15622 of approved make in colours such as White, Ivory, Grey, Fume, Red Brown, laid on over a base of cement based high polymer modified quickset tile adhesive (water based) confirming to IS 15477 using not less than 5 kg adhesive per sqm of tile area , in average 3mm to 10 mm thick and hacking the existing surface including cost of all materials , neat finishing and jointing with coloured cement etc. complete all as directed by Engineer-in-charge.	One Sqm	10.00	627.41	6274.13
27	Providing and laying water proofing treatment on roofs of slabs by applying cement slurry mixed with water proofing cement compound consisting of applying: a) after surface preparation, first layer of slurry of cement @ 0.488 kg/sqm mixed with water proofing cement compound @ 0.253 kg/sqm. b) laying second layer of Fibre glass cloth when the first layer is still green. Overlaps of joints of fibre cloth should not be less than 10 cm. c) third layer of 1.5 mm thickness consisting of slurry of cement @ 1.289 kg/sqm mixed with water proofing cement compound @ 0.670 kg/sqm and coarse sand @ 1.289 kg/sqm. This will be allowed to air cure for 4 hours followed by water curing for 48 hours. The entire treatment will be taken upto 30 cm on parapet wall and tucked into groove in parapet all around.	Sq.m	20.00	441.05	8820.94
28	Providing and fixing 12 mm thick frameless toughened glass partition /door of approved brand and manufacture, including providing and fixing top & bottom pivot & double action hydraulic floor spring type fixing arrangement(if required) and making necessary holes etc. for fixing required door/partition fittings, all complete as per direction of Engineer-incharge.All fittings are included.	Sq.m	40.00	3335.93	133437.00

	SCHEDULE- A	Tende	r Notice No:		
	GONEDOLL' A			23, Dt: 01.12.2	2022
	PRICE BID			-,	
Name	of work:- Miscellaneous Civil Works at Guest I	House	and IC in vie	w of Director	s Visit to our
Unit.		,			
29	Grouting the joints of flooring tiles having joints of 3 mm width, using epoxy grout mix of 0.70 kg of organic coated filler of desired shade (0.10 kg of hardener and 0.20 kg of resin per kg), including filling / grouting and finishing complete as per direction of Engineer-in-charge	Sq.m	20.00	181.09	3621.75
30	Repairs to the existing Armstrong false ceiling including dismantling and removal of damaged 'T' angles, wall angles, intermediate channels, and refixing the false ceiling with new wall/Tee/intermediate angles and channels in place of damaged sections including dismantling of existing false ceiling and providing the false ceiling in new locations. It also includes anchoring the ceiling grid with GI wire to the ceiling with rawl plugs, hooks, levelling and fixing of boards etc. complete as directed by Engineer-in-charge.	One Sq. m	50.00	309.30	15465.08
31	Supply & fixing of Armstrong mineral fibre false ceiling boards of following models. a) Prima Dune Plus Tegular edge 600 x 600 mm	One Sq. m	50.00	962.59	48129.25
32	Microlook Tegular edge / Plain 600 x 600 mm	One Sq. m	50.00	962.59	48129.25
33	Supplying & Applying Varnishing with flatting varnish of approved brand and manufacture one or more coats on old work.All materials supply are in contractor scope only.	One	30.00	45.31	1359.25
34	Supply and fixing of Towel platform	each	10.00	900.00	9000.00
35	Supply and fixing SS3F Heavy Duty Stainless Steel Curtain Rod along with fixtures.	Rm	10.00	368.00	3680.00
36	Stainless Steel Curtain Finials And Curtain Brackets/HoldersCurtain rods end brackets in required design.	each	30.00	130.00	3900.00
b	Dismantling the existing Supply, fabrication and fixing of structural steel, Ornamental M.S. grills for door frames with shutters of approved quality and design including fixing of MS hold fasts in Cement concrete, cost of all materials etc., complete as directed by the Engineer-in-charge. Removed grills should be handed over to store carefully.	Ng	500.00	134.29	67145.54
37	Supply and fixing of Main door spray paintings Supply Heavy Duty 5 inch Square Door Stoppers Rubber	Sqm	100.00	220.00	22000.00
38	Powerful Working with Screw/ Door Stopper to Stop Door for All Door Home	each	10.00	356.00	3560.00
39	Providing and fixing white vitreous china pedestal type water closet (European type W.C. pan) with seat and lid, 10 litre low level white P.V.C. flushing cistern, including flush pipe, with manually controlled device (handle lever), conforming to IS: 7231,with all fittings and fixtures complete, including cutting and making good the walls and floors wherever required:W.C. pan with ISI marked white solid plastic seat and lid ludes dismantling and disposal of European type W.C. pan.Makehindware/parryware/Cera	each	6.00	3945.75	23674.50
40	Supply and fixing of new "Parry ware" make Indian Water Closet, Orissa pan of size 580 mm x 410 mm - Open rim (Code No. C0109) including PVC Slimline Dual Flush tank (Cistern) of size 475 mm x 318 mm (Code No. C8109) with all accessories like Parryware flush kit suitable for the above flush tank with all required accessories etc., complete. Colour: Silky Off - White.Make-hindware/parryware/Cera		1.00	4865.55	4865.55
41	Supply and fixing of Siphon set as directed by Engineer in charge.	each	5.00	1500.00	7500.00
42	Supply and fixing of Toielt seat covers fit to the existing EWC as directed by Engineer in charge.Make-hindware/parryware/Cera	each	5.00	1215.00	6075.00
43	Supply and fixing with "Parry ware" make Cascade pedestal ceramic wash hand basin of size 550 mm x 440 mm and pedestal size 705 mm height, with centre tap hole with all accessories like brackets, screws, PVC connections etc. complete. Colour: Silky Off - White.	each	8.00	4865.55	38924.42

	SCHEDULE- A	Tende	r Notice No:		
	JOHES JEE A		/OT-19/2022-2	23. Dt: 01.12.	2022
	PRICE BID				
Name Unit.	of work:- Miscellaneous Civil Works at Guest I	House	and IC in viev	v of Director	s Visit to our
44	Supply & fixing "Jaquar" make Pressmatic pillar cock for wash basins, with all accessories. (Cat: 031)	eacn	10.00	841.74	8417.41
45	Providing and fixing P.V.C. low level flushing cistern with manually controlled device (handle lever) conforming to IS: 7231, with all fittings and fixtures complete-10 litre capacity - White	each	2.00	1519.64	3039.28
46	Providing and fixing SS Urinarl flush valve.Make- hindware/parryware/Cera	each	2.00	1800.00	3600.00
47	Supplying and fixing CI Nahany traps 1st quality ISI marked conforming to IS: 1729 - 1979 with C.P Grating fixing with white cement as per site requirements with standard practice - 100mm inlet - 75 mm dia (3") outlet pipe - 4 Kgs.	each	5.00	324.37	1621.85
48	Providing and fixing C.P. brass angle valve for basin mixer and geyser points of approved quality conforming to IS:8931 a) 15 mm nominal bore 18.53.1 15mm nominal bore.All materials supply are in contractor scope only.	Fach	10.00	399.00	3990.00
49	Providing and fixing brass bib cock of approved quality:15 mmnominal bore	each	5.00	226.91	1134.56
50	20 mmnominal bore	each	2.00	244.84	489.68
51	Providing and fixing P.V.C. waste pipe for sink or wash basin including P.V.C. waste fittings complete.	each	10.00	75.83	758.25
52	Supply and fixing of 15 mm CP brass pillar cock as directed by EIC.	Each	5.00	1509.56	7547.81
53	Providing and fixing Brass stop cock of approved quality and colour.(15MM)	each	10.00	226.69	2266.88
b	do20 mm	each	2.00	244.84	489.68
54	Supply and fixing of Shower(latest) with extension pipes of reputed brands like parryware/kohler/hindware	each	8.00	2160.00	17280.00
55	Supply and fixing of brass with chrome polished Health faucet with holder of reputed brands like parryware/kohler/hindware	each	15.00	2141.70	32125.50
56	Supply and fixing of 2 way taps of reputed brands like parryware/kohler/hindware	each	15.00	1130.00	16950.00
57	Supply and fixing Wall mixtures of reputed brands like parryware/kohler/hindware	each	10.00	3920.00	39200.00
58	Supply and fixing SS Soap dispenser	each	10.00	845.00	8450.00
59	Supply and fixing of SS soap tray(double)	each	10.00	1000.00	10000.00
60	Supply and fixing of CP long body bib cock of reputed brands like parryware/kohler/hindware	each	10.00	541.00	5410.00
61	Supply and Fixing of vertical blinds 100 mm in required colour along with channels, fabric bottom weights etc., complete. The basic cost of the blinds shall be in the range of Rs. 70/- per SFt. The colour and design of the blinds will be selected by department within the specified cost. The agency shall procure the same etc., complete all as directed by Engineer-In-Charge	Sqm	60.00	1114.11	66846.53
62	Supply and fixing Angle cocks of reputed brands like parryware/kohler/hindware	Each	5.00	1518.66	7593.30
63	Supply and fixing telephonic shower of reputed brands like parryware/kohler/hindware	Each	2.00	1485.00	2970.00
64	Supply and fixing hot and cold mixture type pillar cock of reputed brands like parryware/kohler/hindware	Each	10.00	3480.00	34800.00
65	Supply and Fixing of fly proof stainless steel grade 304 wire gauge, to windows and clerestory windows using wire gauge with average width of aperture 1.4 mm in both directions with wire of dia 0.50 mm all complete with 2nd class teak wood beading 62 x 19 mm.		20.00	2085.50	41709.93

	COUEDINE	Tanda	" Nation No:		<u> </u>
	SCHEDULE- A		r Notice No:	L 23, Dt: 01.12.2	2022
	PRICE BID	ПТ/ТА	/OT-19/2022-	23, Dt. 01.12.2	2022
Namo	of work:- Miscellaneous Civil Works at Guest I	House	and IC in view	w of Directors	Visit to our
Unit.		_	and ic in vie	w or Directors	s visit to our
66	Supply and Fixing of Aluminum door shutters made out of new anodised aluminum box section of size 44.50 x 47.50 x 2.00 mm for verticals, top and middle rails and 101.60 x 44.50 x 2.00 mm for bottom rail inclusive of supply and fixing of all Aluminum fixtures and fittings such as 2 Nos. handles; 1 No of tower bolt 12 mm dia 200 mm long; 1 No of hydraulic door closure of IS specification; 3 Nos. of 4" long (100 mm) butt hinges; 1 No stopper and suitable locking arrangement etc., complete all as directed by Engineer-In-Charge	Sq,m	6.00	4064.38	24386.28
67	S & F glass panes and refixing existing wooden fillets:-Supply and fixing of Float glass panes of nominal thickness 4 mm (weight not less than 10kg/sqm) wherever required as directed by EIC.	Sq,m	6.00	742.39	4454.33
68	doFloat glass panes of nominal thickness 5 mm (weight not less than 12.5kg/sqm)	Sq,III	6.00	963.15	5778.90
69	Providing wood work in frames of doors windows, clerestory windows and other frames, wrought framed and fixed in position Second class teak wood.(all the materials with necessary fittings are in contractor scope only)	cum	0.10	97637.29	9763.73
70	Providing and fixing panelled or panelled and glazed shutters for doors, windows and clerestory windows including ISI maked black enamelled M.S butt hinges with necessary screws excluding panelling which will be paid for separately.30mm thick shutters (all the materials with necessary fittings are in contractor scope only)	sqm	1.00	2970.90	2970.90
71	Supply of plants fruit bearing/flower bearing saplings inside BHEL Township area.	each	30.00	150.00	4500.00
72-a	Supply & fixing 15 mm dia Nominal Bore GI pipe medium Grade properties and weight as per IS 1239 ISI mark with GI fittings including the cost of GI pipe & its fittings, chasing brick work/concrete and making good the same ,cost of labour , all materials etc. complete. Make: TATA/JINDAL/ZENITH	RM	50.00	335.70	16785.00
b	do 20 mm dia nominal bore	RM	20.00	370.58	7411.50
С	do 25 mm dia nominal bore	RM	20.00	273.41	5468.25
73	Providing and fixing PTMT Ball cock of approved quality, colour and make complete with Epoxy coated aluminium rod with L.P./ H.P.H.D. plastic ball.18.62.2 20 mm nominal bore, 120 mm long, weighing not less than 198 gms 25 mm nominal bore		30.00	230.16	6904.92
74	Providing and fixing uplasticised PVC connection pipe with brass unions: 15 mm nominal bore of 450 mm long. Make of Sudhakar. Complete etc as directed by EIC.	each	10.00	66.37	663.66
75	Supply and fixing of flexi board with 4mm thick in required sizes and design as directed by engineer in charge	Sqm	4.50	766.23	3448.05
76	Supply and fixing of Supply and fixing of 10 HP open well submersible monoblock pumps (horizontal self-priming), as directed by Engineer-In-Charge. Make: KSB / Kirloskar / Crompton /Lubi	each	1.00	79650.00	79650.00
77	Engaging tractor and trolley with 3 nos.USW along with driver for disposal of collected debris from required site to dumpyard as directed by Engineer in charge		3	2492.03	7476.10
78	Engaging JCB(4 days) for area clearance and trench digging as directed by Engineer in charge.	Hrs	8	1249.71	9997.65
79	Providing and applying fibre reinforced elastomeric liquid water proofing membrane with resilient acrylic polymers having Sun Reflectivity Index (SRI) of 105 on top of concrete roof in three coats @10.76 litre/ 10 sqm. One coat of self-priming of elastomeric waterproofing liquid (dilution with water in the ratio of 3:1) and two coats of undiluted elastomeric waterproofing liquid (dry film thickness of complete application/system not less than 500 microns). The operation shall be carried out after scrapping and properly cleaning the surface to remove loose particles with wire brushes, complete in all respect as per the direction of Engineer-in-Charge.	Sqm	600	311.74	187042.50

1		I 			
	<u>SCHEDULE- A</u>	Tender Notice N			
		HY/TA/OT-19/2	2022-	23, Dt: 01.12.	2022
	PRICE BID				
Name Unit.	of work:- Miscellaneous Civil Works at Guest	House and IC ir	n vie	w of Director	s Visit to our
					24,21,101.25
Note:					
a)	Cement will be issued free of cost from BHEL	township store	•		
b)	Estimation is including Taxes.				
c)	All sanitary supply items includes removing the requirement.	ie existing whe	reve	r required as	per site
-	requirement.				
	In vvords			In	Figures
Exces					
Less					
Estima					
*	The bidders are required to quote the tender valu	e on percentage	e (%)	basis at exce	ss or less or on
	par with estimated value in figures and words. Bid	ders are reques	tèd to	o fill only one	row.
	Risk Purchase: In case the contractor fails to e				
4	any other reasons, BHEL reserves the right to g				
1	the risk & cost of the contractor and any additi	onal expenditure	e inc	urred due to	the same shall be
	charged to the contractor.				
	Cement is Free Issue from BHEL. Remaining all	the other materia	als ar	re in the Conti	ractor Scope Only.
2	BHEL is not resposible for the storage of the mate				, ,
3	The rates are Including taxes.				
	•		\ N.A		unite e al a mana it conilli la a
4	The contract period is 10 days and maintenance released after satisfactory completion of the work				
	Penalty terms:	and aller deliini	u I.K	Clearance an	o pavineni orimai
	a) If the agency fails to commence the work Imi	mediatly from th	e da	te of LOI, a p	enalty of 0.5% per
5	day delay, subject to a maximum of 2.00% of the				
5	extends beyond 1 day from the date of LOI, ther	BHEL reserves	s the	right to take	strict action without
	any prior notice.				
	b) In the event of delay in supply of goods and or		d con	tractual delive	ery date, penalty of
<u>6</u>	Taxes: Bidders shall quote their Basic price Inclu		11 1 -		
	The tender % age quoted by the contractor shall IR Clearance is not required for the works less the	<u>be inclusive of a</u> an Rs_50 000/-	III tax	es.	
- 0	The agency has to pay the minimum wages to w			navments like	FSI PF etc. is as
•	per BHEL notification and as per NIT. For USW:				
9	PF + PPE's and other statutory if any increase in				
	• •				· •
10	The agency has to bring police clearance certification				12 (4 2
11	All the terms and conditions of the contact with				
	taxation laws introduced from time to time (e.g.	GSI). The tern	ns ar	nd conditions	will be modified in
12	Payment shall be made stage wise on approval from engineer in charge				
13 14	Vendor shall raise GST invoice on BHEL Hyd GSTIN. If BHEL is unable to avail the input tax credit, the same amount shall be recovered from the vendor				
15	Use of stone dust is not permitted in any civil works.				
	GST CLAUSES				
16	Following points to be complied with :				
	In case GST credit is delayed/denied to BHEL de				
17	or expiry of timeline prescribed in GST law for av	•		•	
	In case vendor delays declaring such invoice in	his return and G	th int	credit availed	by BHFL is denied
18	or reversed subsequently as per GST law, GST				
		amount paid by	J. 1L		

	SCHEDULE- A	Tender Notice No:				
		HY/TA/OT-19/2022-23, Dt: 01.12.2022				
	PRICE BID					
Name	of work:- Miscellaneous Civil Works at Guest I	House and IC in view of Directors Visit to our				
Unit.						
19	The bidder shall arrange to send to BHEL, Hyd	lerabad along with all the required documents as in ont) along with his hills				
20	Vendor to ensure correct applicability of IGST/0	CGST/SGST/UTGST based on the Inter /Intra state				
21	Taxes and duties prevalent on the contractual (delivery date or the actual delivery date (in case of Composition Scheme to be addressed				
22	of Carriage or both whorever applicable	ed quoting HSN Code of Goods or Accounting Code				
23	Nadal Aganay as mantioned in DO	AD GSTIN: 36AAACB4146P1ZG or GSTIN of BHEL				
24	In case of any short supply of goods or service Vendor has to raise a credit note for short supplied					
25	and/or invoice thereof would be subject to recove	charge before actual receipt of goods and or services ery of interest leviable for the period between the date C based on receipt of goods, receipt of invoices and				
26	format as specified/prescribed under GST laws. case of multiple numbering system is being follow no etc., then the Invoice No which is linked/uploa	mber in all their invoices and invoices shall be in the Invoices shall necessarily contain Invoice number (in wed for billing like SAP invoice no, commercial invoice ded in GSTN network shall be clearly indicated), item				
27	A declaration to the effect that all tax liability as per GST rules and regulations shall be discharged.					
28	All sanitary supply items includes removing the ex					